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V Semester B.A./ft$g Examination, March 2A23
(F+R) (CBCS) (2016 - 17 and Onwards)

ECONOMICS - VI

Mathematics for Eco

Time : 3 Hours Max. Marks : 100

lnstructions ; 1) Answers must be written

or in English.

2) Answers of Part - A should be Continuous.

3) Answers should be precise.

PART _ A

tparl - a

1. Answer any 10 of the following sub-questions. Each sub-question carries
2 rnarks. (10x2=20)

oJnQcnddro 1 0 wd- {, dorlpri en:d oxr. 4.9 wd - {, dorl 2 erodrld.:.

lf P = 50 - 2q stands for the demand function, obtain MR when e= 4.

P = 50 - 2q sJeGd zloudaaRd:., C = 4 eJRqO- lednod sesco$ MR eldlo

Eod;bEou:o.

Define a Unit matrix.

Dua od ffrddf o$d:". a% $a, Otu.

Solve the quadratic equation 4x2- 37x - 7 = O.

drlr i.):eddeodd:o e,ta:, 4x'- 37x -7 = O.

What is a row m4rix ?

el{ dndrd aodded: t
Write the first and second order conditions for maxima for the furiction

Y = f(x).

Y = f(x) .lou Llorrdd ifoqdo$ dode.: a$8 addde gd:d Ouoddod,:d1 udoDo.

Write the meaning of elasticity of demand.

aJead xA8xEaddddd elfrrd$o udor:o.

Given AC = q'+ 8, obtain MC when Q = 10.

froaHo dzflzroud AC = q'+ 8 onq Q = 10 qrndr;Dil MCo$$4dod:6oGou:o.

in Kannada

a)

b)

c)

d)

e)

s)

:

P,T.O.
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i) Define decreasing returns to scale.

"aed {,efrer &oJ:abdQ *rrrrex.

i) lf D =-30P + 325 and S =-20P +75arethe demand and supplyfunctions

respectively, calculate the equilibrium price and quantity.

D = -30P + 32s aario s - - 20p + 75 erd:$dlaon ajead aarto dBdrd

e,toudrlsaRdl)_, Bd:dnee-rd aJeJ anrto {,dneode ejdFDA.

k) Find out the marginal utilities of x and y for the utility function.

U = x2 -f -2x\,
d:el*r$sa Doud

U = x2 -y'- 2x2y rl, x d:Q yd :rednod &.Xrbeo dod>baouro.

l) lf y=xfind dY..

dx

Y = x ernqd 9I "q dod;bao3:o.'dx
PART - B

t,rorl - D

Answer any four of the following questions. Each question carries 5 marks. (4x5=20)

oJn$aaddo 6D$r4{ilerl erudoft. €,.9 dd4ri 5 ero8rlgc

2. The short run cost function of a, firm is C = 0.0925q3- 0.963q2 + g.g2q + 100

obtain TFC, TVC, AC, MC, AFC a$$ AVC.

t-ocj: erodrd: dodoJ: eende dqd zrouds c = 0.0925q'- 0.g63q2 + g.92q + 100

srflrs')rl TFC, TVC, AC, MC, AFC ;bd: AVC dod>toGogto.

3. Find the maxima and minima for the following function.

Y=Xs-'18X2+96X-80

dqjnC zroud{ do-%d d:d: de*do$d.} dod:bcol:o.

Y=X3-18X2+96X 80

:

-z-

h) rr o=l? ?"l,r-f' uI,,noo,

17 B.l Ll 5l
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4. Solve by using Cramer's rule.

5x+2y=ll
4x+6y=25

agilqOo$d: udxr nddl aax,.

5x+2Y=i2
4x+6y=25

5. Find the price elasticity of demand for the given demand function Q = 100 - 5P
atP=10.
P = 10 eto-arl zJeaEoJ: uouEaoad Q = 100 - sPo$CI-ziej ujeadoJ: xAeqddddddl

dod)&Ao3)o.

Ir s6ltt
6. Given A = 12 4 3l find lAl.It

13 131

Ir 561tt,
A = 12 4 3l ucnrl lAl odrq dod>&Eolro.

II"4
lslol

7. The{otal cost function C = 3qt- 8q'+ 40q, prove that AC = MC at minimum
of AC. :

r,t$,rd?*tloud C = 3qt- 8q'+ 40q ufleb, iooio daL*0-'.,SEDR6ilJil AC = MC'

aodc h?Q&.

PART - C

{1 q'ad - &

Answer any 4 questions. Each question carries 15 marks. (4x15=60)

o3ndcoddra drDc.llrdd4deri erud oxr. gg Ed.rl 1 5 qrodrlgo

8. Calculate equilibrium price and quantity for the tollowing demand and supply functions

. and also verify market equilibrium stability according to Walras and Marshall.

Qo = 100 - 3P and Q. = 50 + 2P.

E$nd ajeGd ;$4 dBdr8 troudrlprl id;doee.:d LJd drd: m:dd. dod:&Ed: me;rg,x,"

' d:q dndroddd {,aad dDdrdqnd:dnee-:dd ,xddo$d} dorfitu

Qo=100-3P$QQ"=50+2P. i



10.
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9. Monopolist faces a demand function P = 100 - 2q and Total Cost function

TC = 50 + 2q. Determine the optimum level of output, price, TR, TC and profit

under profit and sales maximisation.

DdFEJdJd Cno-ctsrodd d$ad eJead zroud$ P = 100 - 2q d.:Q ?-r^Dsr dq (TC)

Doud$ TC = 50 + 2q snd,:dd. dncntsd drdl e>qJ do-%ddO-, rloqerxd6 , zJcJ,

?. E^l* u erc od:, r t^u" dr"f, d.>Q 
" 

N* en zJdQ & d r oxr .

A student has Rs. 200 per month to spend on two commodities Q., and q,
suppose that the price of q, is Rs. 10 and Q, is Rs. 20, calculate the equilibrium

values of q, and Q, give the utility function U = QrQr.

ur4 aenrQrod: uQ gorlgrl add: Sddorimd Q, SQ q2 r19 d:ee3 aDzd;r dndu:

200 do. "ad. q1 d uJei 10 dra. aarto q, d aJci 20 drD. qd:"erdd d.:agrlrea zloud

U = Q,Qz 
qrfletrrl a, t* q2 rf$ dd:doee.:d dFe.:rd$o dod:hGo0:o.

lf D = 400 - 50P and S = 75P + 25 are the demand and supply functions

respectively. Calculate the equilibrium price and quantity. And also find the

consumers and producers surplus under equilibrium.

D = 400 - 50P dbQ S = 75P + 25 epd:$d:aan a3ead drQ dBdrd ssoDEil$Dfld,

"adood dd:doee.rd uiej dJd.l erudd dod:baou:o anito id:d,oee.:d rA.9o$%

erd:q3oenod, d:Q eruaoddd erQd draoJ:dl erd$rDa.

Explain the importance of mathematics in the study of economics.

er $ r uo{d er d, od: dd O- rl eddua&d q XrsDd d 01> dt ado:l .

11.

12.

13. The demand functions of two reiated commodities

. Find I11, I12, n21, and I, and also prove that the commodities are

D

are Q. = 2005 and,P,
D

Q- = 4OO21P,

either complimentary or substitutes.

Qr :2003 abdl Qz = 400? ri$: gdxsafl add: douoQ*d id*:rl$ aJecd-r ---P2----4 - q

zroudrlqand* qdood T1,,, \.r, \rr, il{;,rlr, d$q dod,:bGolro. dddrrl$c

dpdd di:rl$e edEsE ude)e di:il$e aodr doetxr.


